



•  $\lim_{n \rightarrow +\infty} a_n = L \in \mathbb{R} \Leftrightarrow$

$\forall \varepsilon > 0, \exists m_0 \in \mathbb{N}, \forall m \in \mathbb{N}, m > m_0: a_m \in (L - \varepsilon, L + \varepsilon)$

• für  $A, B \in \mathbb{R}; m \in \mathbb{N}$ :

$$A^m - B^m = (A - B) \left( \sum_{j=0}^{m-1} A^{m-1-j} B^j \right)$$

$$= (A - B) (A^{m-1} + A^{m-2} B + \dots + A B^{m-2} + B^{m-1})$$

$$\lim_{n \rightarrow +\infty} \underbrace{\sqrt[3]{n+1}}_A - \underbrace{\sqrt[3]{n}}_B = \lim_{n \rightarrow +\infty} \frac{\cancel{n+1} - \cancel{n}}{(\sqrt[3]{n+1})^2 + \sqrt[3]{n+1} \cdot \sqrt[3]{n} + (\sqrt[3]{n})^2} =$$

normiere  $A^2 + AB + B^2$   
 $\rightarrow 0$

$$\lim_{n \rightarrow +\infty} \frac{1}{n^{2/3} \left( \underbrace{\left(\frac{n+1}{n}\right)^{2/3}}_{\rightarrow 1} + \underbrace{\left(\frac{n+1}{n} \cdot \frac{n}{n}\right)^{1/3}}_{\rightarrow 1} + 1 \right)} = \frac{AL}{3} = 0$$

Fakt: Reihe  $\{a_n\}$  pos.  $\lim_{n \rightarrow +\infty} a_n \geq 0$  a  $\forall n \in \mathbb{N}; a_n \geq 0$

$d \in \mathbb{R}$ . Pos  $\lim_{n \rightarrow +\infty} (a_n)^d = \left( \lim_{n \rightarrow +\infty} a_n \right)^d$

$$\lim_{n \rightarrow +\infty} (-1)^n \sqrt{n} (\sqrt{n+1} - \sqrt{n}) =$$

↑  
sowie  $\sqrt{n+1} + \sqrt{n}$

$$\lim_{n \rightarrow +\infty} (-1)^n \sqrt{n} \frac{n+1-n}{\sqrt{n+1} + \sqrt{n}} = \lim_{n \rightarrow +\infty} (-1)^n \frac{\sqrt{n}}{\sqrt{n}(\sqrt{\frac{n+1}{n}} + 1)}$$

↑  
simplify numerator etc

↑  
siehe punkt 4L

also:  $\lim_{n \rightarrow +\infty} \underbrace{\sqrt{n} (\sqrt{n+1} - \sqrt{n})}_{a_n} = \frac{1}{2}$

$$\Rightarrow \forall \varepsilon > 0, \exists m_0 \in \mathbb{N}, \forall n > m_0: a_n \in \left(\frac{1}{2} - \varepsilon, \frac{1}{2} + \varepsilon\right)$$

$$\text{wähle } \varepsilon = \frac{1}{4}: \exists m_0 \in \mathbb{N}, \forall n \in m_0: a_n \in \left(\frac{1}{4}, \frac{3}{4}\right)$$

$$\Rightarrow \lim_{n \rightarrow +\infty} a_n (-1)^n \text{ existiert}$$

(Kdyby ex.  $a = L \in \mathbb{R}$ , pak volim  $\varepsilon > 0$  tak, aby

$$(L - \varepsilon, L + \varepsilon) \cap \left(\frac{1}{4}, \frac{3}{4}\right) = \emptyset \text{ nebo } (L - \varepsilon, L + \varepsilon) \cap \left(-\frac{3}{4}, -\frac{1}{4}\right) = \emptyset$$

$$\text{Prostředí } (-1)^n a_n \in \left(\frac{1}{4}, \frac{3}{4}\right) \text{ pro } n \text{ sudé, } n > m_0$$

$$(-1)^n a_n \in \left(-\frac{3}{4}, -\frac{1}{4}\right) \text{ n liché, } n > m_0,$$

neboe splnit definici limity pro  $a_n (-1)^n$ .

$$\forall \varepsilon > 0, \exists m_1 \in \mathbb{N}, \forall n > m_1: a_n \in (L - \varepsilon, L + \varepsilon).$$

$$\lim_{n \rightarrow +\infty} \sqrt[3]{n^3+1} - \sqrt[2]{n^2+1} =$$

A
B
↑

$$\text{minimize } A^5 + A^4B + A^3B^2 + A^2B^3 + AB^4 + B^5$$

$$\lim_{n \rightarrow +\infty} \frac{(n^3+1)^2 - (n^2+1)^3}{(\sqrt[3]{n^3+1})^5 + \dots + (\sqrt[2]{n^2+1})^5} = \lim_{n \rightarrow +\infty} \frac{\cancel{n^6} + 2n^3 + 1 - (\cancel{n^6} + 3n^4 + 3n^2 + 1)}{n^5 \left( \dots \dots \dots \right)}$$

→ -3
→ 6

$$= \lim_{n \rightarrow +\infty} \frac{n^5 \left( \frac{2}{n} + \frac{1}{n^3} - \frac{3}{n} - \frac{3}{n^2} - \frac{1}{n^3} \right)}{n^5 \left( \dots \dots \dots \right)} = 0$$

→ 6

→ мажор:  $\frac{A^5 B^4}{n^5} = \frac{(\sqrt[3]{n^3+1})^5}{n^5} \cdot \frac{\sqrt[2]{n^2+1}}{n} =$

$$= \left( \sqrt[3]{1 + \frac{1}{n^3}} \right)^5 \cdot \sqrt{1 + \frac{1}{n^2}} \xrightarrow{n \rightarrow +\infty} 1$$